Quiz #3 EEC118 Spring 2011
Name: Solutiong Lab Section:

Problem 1 (3 points) For the carry bypass adder circuit below, circle the longest delay(s)
(critical paths) from inputs to outputs. The delay number represents the delay from any
input to any output for that block. What is the worst case delay?
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Problem 2 (2 points) Suppose the bypass paths (two-to-1 muxes) are taken out of the
circuit. What is the worst case delay?
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Problem 3 (5 points) For the circuit below, assume: Vpp =3V, Vi, =1V, V¢, =-1V,
pCox = (1/2) x 10™* A/V?, 1,Cox = 2 x 10 A/VZ, A = 0. What logic function does the
circuit implement? What is the worst case VOL for the circuit? State any reasonable
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